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QUESTION 1

Which of the following BEST describes why it is important to separate test definition from test execution in a TAA? 

A. It allows developing steps of the test process without being closely tied to the SUT interface. 

B. It allow choosing different paradigms (e.g event-driven) for the interaction TAS and SUT 

C. It allows specify test cases without being closely tied to the tool to run them against the SUT 

D. It allows testers to find more defects on the SUT 

Correct Answer: C 

 

QUESTION 2

You are implementing test automation for a project that has a business critical application A test execution tool is being
used to run automated regression tests. The results from the test execution tool are very important and need to be
100% 

accurate. 

You want to merge the test automation results with the test management system that also records the manual test
results so that managers can make informed decisions about the progress quickly. 

Which layer of the gTAA will be used to ensure the proper reporting occurs and the interfaces to the test management
system are handled? 

A. The reporting layer 

B. The logging layer 

C. The execution layer 

D. The adaptation layer 

Correct Answer: A 

 

QUESTION 3

Your functional regression test automation suite ran successfully for the first two sprints and no failures were
encountered during the runs. The automation suite records the status of each test case as either \\'pass\\' or \\'fail\\' and
has excellent 

recovery capability built in. 

For the third sprint, the TAS log reported several test cases with a status of \\'fail\\'. You investigated each test case and
found that most failures were due to a defect in one of the keyword scripts, rather than in the SUT. For those where the 

failure was in the SUT, defectreports were raised but several were returned by the developers asking for more
information to enable them to reproduce the problem. 
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Which additional log items SHOULD you add to the TAS that would BEST improve failure analysis and defect reporting
for future sprints? 

a) Dynamic measurement information about the SUT. 

b) A status of TAS error

Correct Answer: B 

 

 

QUESTION 4

The GUI of a Customer Relationship Management (CRM) application has been delivered through internet Explorer with
proprietary Active X and Java controls. This implementation enables rich client capabilities, but specific commercial
automation tools are necessary to automate test cases at GUI of functional test cases. This is to demonstrate whether a
small set of the commercial are able to properly recognize actions taken by a tester when interacting with GUI of the
CRM application. 

Which of the following scripting techniques would be MOST suitable in this scenario? 

A. Data-driven scripting 

B. Keyword-driven scripting 

C. Linear scripting 

D. Structure scripting 

Correct Answer: D 

 

QUESTION 5

A web application was released into production one year ago, it has regular release which follow a V-model lifecycle and
testing is well-established and fully integration into the development lifecycle. You have been asked to implement a TAS
for the regression test suite. The regression tests have been developed via the GUI and are expected to be run at least
four times a month, for each planned release, for the whole operation solution life of thesystem (six years). Each screen
of the GUI uses several third-party controls which are not compatible with the existing automation solutions. The
environment for the automation will be stable, fully controllable and separated from other environments (development,
staging, production). 

What could be the MOST problematic for this TAS? 

A. Maturity of the test process 

B. Complexity to automate 

C. Frequency of use 

D. Sustainability of the automated environment 

Correct Answer: D 
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